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Step 5 extra

_f{l.li' -"a’l- .
o e k;&_ <)

/ ]
ot i

Name: o R - LDaTe_of birth:
Sfrze;: ) - ‘ Ff-a_ce:

School: | Club:

Trainer: _ 1*' step completed:

2" step completed :" B 3 step completed:

4™ step completed: 5™ step completed:



Mate in three: A
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[ 2
o 104
B - =l
<]
o o8&

b
< <J
.. < B3

P 2« g
21 21
] < <3
-« 4 D
-3
=4 <]
I - <]
in] -4 =]
e 2 <1 g
2
< <]
-4 - <]
o - g < |
= Da
) - <] ¥4

|51 -4

o “« oo |

- &
-4 <]
] 1 <
. |
L] -4
< =l
- &
M & 4
0 o < |
a1 54
E
£
M 4
<4 <
-q <]
-4 <

- <]
o d«
w - B
D -G
Eil
i <]
o o
- <
el <19
G <
-“« P
P 1 <]
o
< <J
-
i
~3 Q <] <
« @
o aRsy
<
o - <]
E
(=] g o



Mate in the ending: A
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The breakthrough
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Pawn ending Pawn race: A
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Pawn structure: A

Mini-plans
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Preparatory move: A

Discovered attack
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Preparatory move: B

Discovered attack
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Preparatory move: C

Discovered attack
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Preparatory move: A

X X ! X W e e
AA AW O f A AL
AA AAA A AAA

2 A Q
T Y | IR
r'"'- z:*'l rfl'n /“': Q.I ..H.

r'nﬁ .ﬁ. r'"'- f'"ﬂ .Q. r'"'|| f-(-‘li & &1 &
b gt o W 2o
X X S © X £ Ee ©
W AA A A Ada

-3 A L
i A WA

AW A )

I & &H L W
| I AN AlAR BAR
| B % o & |z

| X X W &

A A AAA o X 4
A A A ¥ &

o 2 A A

2 W A AA

| & BN &

AN & AN Ak

ol W &



Preparatory move: B

The pin

b - < = S | -
a - < Do w40 <« ol 4 - f
- -G8 = i <]
H D i E]
< <3} E | o af 2 <
o - ol <19 o 21 % |
- <] 3 - o | - g Al
] - &1 - ] o
. ® e
-4 =] k. g <9 | =g <J |
P o« < -« _ o - <1 4
Mags G - =] 31 Ma@ed B
- < < 9 - o | _ @ _
3 4 9 g Bolwgd EE <Gl o
-« < o x| - <q <
f = 2 < i < - <
- < H = - <0
[ J [
w - = -« <19 -t < o
£« <] P <] ] <
sda o oo e a4 o -« 4
P A4 d4P f 4 I= 2 @ < 8
-« < = E | < H < o
€ < <G ] e |
“ 3 <1 g - <] -
- < 5t -4 e - P2



Preparatory move: C

The pin
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Rook against pawn: A

Endgame




Strong square: A

Strategy
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Rook ending
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Vulnerability: A

Rook ending




Attacking the king
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Mix: A

Attacking the king
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Open file: A
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-

23



Vinr
* L%

j\l'a A

'Il'.‘_



Stalemate: B




Draw Insufficient material: A
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Eliminating the defence
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Mix: A

Double attack
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Trapping: A

Mobility
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Solving the tests

i i ; Those e it is ‘e is possible. You can
In the following 26 tests you know only whose move it is and that a good move is po

usually win material or deliver mate.

How do you find the correct solution? First look to see whether you know the position. In chess? many
combinations strongly resemble one another. [ at first you do not see the correct move, do not just try
out every move. First look for the characteristics of the position. Some examples:
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White would like to mate on
g7. So you must eliminate
the bishop on f6. Chasing it
away helps here, so: 1. Rg6!
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White's back rank is weak.
Pressure can be increased by:
L. ... Red 2. Kf1 (the only
move) 2. ... Re8.
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The e5-knight has no squares,
After 1. f4, exchanging
queens doesn’t help: 1. ...
Qxg3 2. Nxg3 Ngé6 3. 15.

s

)¢
A & 4
4 EOH A
A Wa
wAa
i ]
AAARS
& =
The queen is protecting the
Ne5. 1. Nf5+ eliminates this

defender. 1. ... Kf6 is
followed by 2. Qdé+,
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1. Qd3 would win tor White
il the N were not there. So

it has 1o be diverted: 1. Qe3
Ng8 (what else?) 2. Qd3.
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The attek falters alter 1,
Rel KI7, The King must first
be immobilised with 1. Qeé,
and only then Rel.
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The h3-pawn is unprotected.
but can easily be so. Black
sets up a second threat with 1.
... Qd7.
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The rook on e3 is awkwardly
placed. Black exploits this: 1.
oo Re8. Now the bishop is
pinned: 2. ... Qe6 wins.
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Defenders: Qbo, Ras, Ned
Pinned: Nes, by

The a6-pawn is protected 5
times and vet: 1, Rxa6!!
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mix: C
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Test Mix: F
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